= A
N = 0l & At & M A
0178 £ 18 FABSEN HA
SN REHFD
HE: Melstn OFE HADSHY 75
el FOIBO 9IFEO DEUY PH(FNISHIN) (29l & 2)
SN EH - (EH) - HRAY - BES 0] &k o4 p/E-T Hl D2
mES 8,958,116 9,365,763 £407,647
2 214,000 0 214,000
Al 250,250 56,000 194,250
- 8,493,866 9,300,763 A 815,897
H2IotD otFE HADSHY 15 7,989,938 8,415,035 425,007
2 214,000 0 214,000
Al 250,250 56,000 194,250
- 7,525,688 8,359,035 £833,347
FOIEO PAFO DEYH D (FABSLHH) 1,922,405 2,971,915 ~1,049,510
HUDSHH FT 46,740 46,660 80
201 Y2 bl 19,940 19,660 280
01 At 22l H] 19,940 19,660 280
ORSA=BH 22 SAY
AH 2,240,0009 2,240 1,960 280
203 &2 E & H| 1,800 2,000 £200
03 AMETLR=TY| 1,800 2,000 £200
ONSHIALFH(HL) HF 1,800,008 1,800 2,000 £200
IR 1,875,665 2,925,255 A1,049,590
801 0f il bl 1,875,665 2,925,255 A1,049,590
01 el bl bl 1,875,665 2,925,255 ~1,049,590
Ol Bl bl 2 1,875.665,0002 1,875,665 2,925,255 A1,049,590
EUF Y CS(FAISEA) 953,782 936,816 16,966
Al 40,000 0 40,000
o 913,782 936,816 £23,034
EHA PG CE B S 592, 156 609,367 A17,211
201 Yot 2 bl 436,505 453,516 A17,011
02 B2 359,200 376,220 A17,011
OS&XY NHSIH(Z) 1,051 1,139 ~88
~ ATEIT (10H) 23 331,000 331 360 ~29
- S (20) 2 661,000 661 720 A59
OH&xZ BHE (AR (FY)
23 1,087,0008 1,087 2,000 £963
ORUGEAAL ST (270H) (R )
A 63,708,002 63,708 77,673 £13,965
OF#S SYFIN DALY RNLHHI(3
m) (=) 23 9,583,0009 9,583 11,578 ~1,995
203 &2 F & bl 1,800 2,000 A200
03 AR FHYL =T 1,800 2,000 200
OSYUFIASHML LA (BY)
23 1,800,0009 1,800 2,000 A200
EUEIH HSSHAAY &3 121,626 127,449 A5,803
401 N EHIL 2 THEI 79,226 79,993 AT767




2N nEHAHY
HH: Hel5) ONE HADNSHE S
SR EYHET - HX S (ZANEELESAH) (S HA)
SAH-AH -2 (SA) - HREAY - BES Ol A o4 I AR Hns2
01 Al& HI 79,226 79,993 NT67
O2Y FAHX ARXO ==3t02t 22 EXI(
22) 338 39,955,000 39,955 39,993 A 38
O2Y FHX ROUEIH(DEE CCTV)E X (
F22) a8 39,271,000 39,271 40,000 AT29
405 XH&HF SHI 42,400 47,456 A5,056
01 AL =2 EF SHI 42,400 47,456 A5,056
OFHI Ch L AAE AX(RY)
38 42,400,000 42,400 47,456 A5,056
SHFEX NSSHSAAHE AX(EX) 40,000 0 40,000
Al 40,000 0 40,000
401 Al B 20| 40,000 0 40,000
Al 40,000 0 40,000
01 Al& HI 40,000 0 40,000
OBYFHIA PoCEIH (DHEE CCTV) & X(
H4EA) 40,000,000 =14 40,000 0 40,000
Al 40,000 0 40,000
FASUSES(FAESESA) 3,831,339 3,837,302 25,963
Al 56,000 56,000 0
- 3,775,339 3,781,302 N5,963
FEI ARD BSFEXE HE 3,301,800 3,302,000 A 200
203 € R =&lY| 1,800 2,000 A 200
03 A BZ=XHRFXY| 1,800 2,000 A 200
OFXE AEAMNY S =R (EY)
23 1,800,000 1,800 2,000 A 200
el F=XALS 89,667 90, 176 A 509
Al 56,000 56,000 0
- 33,667 34,176 A509
201 LEt2AY| 9,667 10,176 A509
02 33234l 9,667 10,176 A 509
OCCTV S X E4£HI(#2) 338 3,187,000 3,187 3,696 A509
=IE 29 439,872 445,126 Nb5,254
201 2 Bt2 4| 131,876 137,130 Nb5,254
02 =294l 119,026 124,280 Nb5,254
O2GFXNE AMESHY |XE4H(EZ)
a8 24,300,000& 24,300 27,000 A2,700
O2GFXNE =P Mz MH(EZ)
d& 17,446,000& 17,446 20,000 A2,554
SHEIH NAES(FANESESA) 239,053 240,643 A 1,590
XA BEHE = 239,053 240,643 A 1,590
101 2124 d| 65,738 65,114 624
4 JI2tH 22 NEE 65,738 65,114 624




2N nEHAHY
HH: Hel5) ONE HADNSHE S
O SEIH MASS(ZUNESLEIAH) (S HA)
SAH-AH -2 (SA) - HREAY - BES Ol A o4 I AR Hns2
OFE Xt & > 65,738 65,114 624
-mAZEE =S 348 2,885,000 2,885 2,660 225
-3 UAHALEEZ 343 1,963,000 1,963 1,809 154
-NE8288s 338 962,000 962 887 75
- MTHEE 33 692,000 692 532 160
-LoEIRLEEREZ 338 129,000 129 119 10
201 L2 Y| 155,542 157,756 N2, 214
01 At 22| i 44,250 42,450 1,800
OHBHANBRI LSS 24T
348 4,800,000 4,800 3,000 1,800
02 =294l 111,292 115,306 A4,014
OFHXNABEHBOXNAMN S LSLRHQ2(H
) a8 102,052,000& 102,052 106,800 AN4,748
OXNSIUHHSEHAIANAELY STBLH(RY)
38 3,804,000& 3,804 4,056 N 252
OX4+=E U SEIIAHI AAE XL 2H|
82,1253 x12& 986 0 986
CRUNEHEINLAANG (=ANEHEE I A) 1,005,000 390,000 615,000
= 214,000 0 214,000
Al 154,250 0 154,250
- 636,750 390,000 246,750
WEAND 2R HLAS 210,000 110,000 100,000
401 AIEHIL 20| 210,000 110,000 100,000
01 Al &bl 210,000 110,000 100,000
Ozt &l 38 210,000,000 210,000 110,000 100,000
SHEE LAY 130,000 80,000 50,000
401 Al HI L 20 Y| 130,000 80,000 50,000
01 Al& HI 130,000 80,000 50,000
OEHEL EZ)J| &XAMY
4 & 130,000,000& 130,000 80,000 50,000
HelolEs32Y MAAMY(EX) 350,000 0 350,000
= 175,000 0 175,000
Al 87,500 0 87,500
- 87,500 0 87,500
401 Al HI L 201 Y| 350,000 0 350,000
= 175,000 0 175,000
Al 87,500 0 87,500
- 87,500 0 87,500
01 Al &bl 350,000 0 350,000
QO0E0IEES 32 AES ZHU|(Ad8H) 350,000 0 350,000
= 175,000 0 175,000
Al 87,500 0 87,500
- 87,500 0 87,500
NSAID 2R HEMG(BEX) 78,000 0 78,000




2A NS
HH: Hel5) ONE HADNSHE S
H§e: SRUSHEINEMS (FUHESLESA) (e &)
£ HE -2 (FH) - MM - BES Oif &4 JEH Hn&s2Z
= 39,000 0 39,000
Al 39,000 0 39,000
401 Al& Bl 28I 78,000 0 78,000
= 39,000 0 39,000
Al 39,000 0 39,000
01 A& HI 78,000 0 78,000
OULEMD 2R NEAS (LSHA) 78,000 0 78,000
= 39,000 0 39,000
Al 39,000 0 39,000
201749 €238 S XA 37,000 0 37,000
Al 27,750 0 27,750
- 9,250 0 9,250
401 AIEHI L 2] 37,000 0 37,000
Al 27,750 0 27,750
- 9,250 0 9,250
01 A& HI 37,000 0 37,000
Q20174 H=ot% S SXMS(HEH) 37,000 0 37,000
Al 27,750 0 27,750
T 9,250 0 9,250
HE2IAZH (nSEHAD) 967,282 950,728 16,554
ClHARIH(FAESESAH) 883,007 865,377 17,630
ol 2| 883,007 865,377 17,630
101 @124l 858,767 842,097 16,670
02 JIEtE B = 115,327 98,657 16,670
OSYHFIXNESE AZHMYIMSSHA 22AHI(3
9) 81,797 76,611 5,186
- S 84,3003 x3H 123 3,035 0 3,035
- o astl 50,000& *0.875+*3H x12& 1,575 0 1,575
- g Ext| 23 3,600,000 3,600 3,024 576
OSH=ZIXES QMG AIZHEHSIIHMB
A AAHH(1F) 23,793 22,046 1,747
- ExRY 84,300 x12& 1,012 0 1,012
- tHerg sl 50,000& +0.875*12& 525 0 525
- gEx4l 23 1,312,500 1,313 1,103 210
OAZEEHAINH EIXS 9,737 0 9,737
204 X2 434 A b 24,240 23,280 960
02 252 Xl 24,240 23,280 960
O&g 2=t 24,240 23,280 960
-8-92 Z & 6,000,000 6,000 5,040 960
JIE B (RS H) 84,275 85,351 ~1,076
JlE2&l 84,275 85,351 A 1,076
201 L2l 19,692 18,768 924
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